MATIH 3630 - Actuarial Mathematics I
Fall 2009 - Valdez
Homework No. 1
due Wednesday, 6:50 PM, 16 September 2009

Please return this page with your signature. Please write your name and student
number at the spaces provided:

Name: Cf:}f'? LA FTIOMS Student ID:

I certify that this is my own work, and that I have not copied the work of another student.

Signature: Date:

In & certain population where 1/3 are females and 2/3 are males, the force of mortality for a female
newborn is given by
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,uiwj?—a: forz 20,0
and that for a male newhorn is

p = gar for z > 0.

For a randomly selected member of this populatlon calculate 1123 and ;nterpret this probability.
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